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=» CCS is important both for reducing emissions from fossil fuels and also for combining
with bioenergy to take CO, out of the atmosphere (BECCS or BioCCS)

=2 Removing CCS from the mix of mitigation technologies will increase the total costs by
138% - which is by far higher than removing any of the other technologies analysed
(bioenergy, wind, solar, nuclear) - and it may not be possible to achieve 450ppm
CO,eq (+2C) at all .....

-» So we really do need CCS In the portfolio of low carbon energy technologies




